Ex:

$$A = \begin{bmatrix} 1 & 0 & 0 \\ 0 & 2 & 1 \\ 0 & 0 & 2 \end{bmatrix}$$
Step 1:
$$|A - AZ| = \begin{pmatrix} 1 - \lambda & 0 & 0 \\ 0 & 2 - \lambda & 1 \\ 0 & 0 & 2 - \lambda \end{pmatrix}$$

$$= (1 - \lambda)(2 - \lambda)^{2} (2 - \lambda)$$

$$= (1 - \lambda)(2 - \lambda)^{2} (2 - \lambda)^{2}$$

$$\begin{aligned} & \left| ar \left(A - 22 \right) \right| \begin{bmatrix} -1 & 0 & 0 \\ 0 & 0 & 1 \\ 0 & 0 & 0 \end{bmatrix} e^{-rk} = 2 \\ & Span \left(\begin{pmatrix} 0 \\ 1 \\ 0 \end{pmatrix} \right) \\ & din = 1 \\ \\ & I + I = 2 \\ \\ & I + I \\$$

 $Styp 2: ker(A-2) \begin{bmatrix} 0 & 1 & 0 \\ 0 & 1 & 0 \end{bmatrix} \in K_{n=2}.$ $\frac{\text{span}}{0}$ dim = 1 $Syan\left(\begin{pmatrix}1\\1\\0\end{pmatrix},\begin{pmatrix}2\\0\\1\end{pmatrix}\right)$ dim=2. 1+2=3 A is dingonalizable. basi's consisting of R-ucctors $\begin{pmatrix} 1 \\ 0 \\ 0 \end{pmatrix}, \begin{pmatrix} 1 \\ 1 \\ 0 \end{pmatrix}, \begin{pmatrix} 0 \\ 0 \end{pmatrix}$

Prop: algebraic un tipicity > dies c-space for every e-value Thm: A is diagonalizable if and only if algebraic multipicity = dim l-spale for lach Crudue Cov: If A has M distinct e-values Khen A i's diayona (izable. 17: algebraic multiplicity = 1. 7, din e-space 7, 1.

Pefn: Given A, B nx5 matrices.
We say A and B are similar
if there exists S invertible
nxn matrix, such that

$$S^{-1}AS = B$$
.
If A is diagonalitable, we chaope
 $S = \begin{pmatrix} V_1 & V_2 & \cdots & V_n \\ 1 & 1 & \cdots & 1 \end{pmatrix}$, $V_1 \cdots = V_h$ are
 $e \cdot vectors$ with $e \cdot value \lambda_1 \cdots \lambda_n$.
 $\begin{pmatrix} A & V_i = \lambda_i & V_i \\ 0 & \ddots & \lambda_n \end{pmatrix}$

Ex:
$$A = \begin{bmatrix} 1 & 1 & 0 \\ 0 & 2 & 0 \\ 0 & 0 & 2 \end{bmatrix}$$

$$e^{-vichus} : \begin{bmatrix} 1 & 1 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} = 5.$$

$$\int A = \begin{bmatrix} 1 & 0 & 0 \\ 0 & 2 & 0 \\ 0 & 0 & 2 \end{bmatrix}$$

$$d^{i}agonalitation of A.$$

$$Prop: If A is similar to B.$$

$$i^{i}e. S^{-i}AS = B.$$

$$fhan D [A - AZ] = [B - AZ]$$

$$\begin{cases} D & def A = def B \\ Trave A = Trave B. \end{cases}$$

Prop: det
$$A = \operatorname{product} \operatorname{of} \operatorname{e-values}$$

 $\Lambda_1 \Lambda_2 \cdots \Lambda_n$
 $\operatorname{Trave} A = \operatorname{Swm} \operatorname{of} \operatorname{e-values}$
 $\Lambda_1 + \Lambda_2 + \cdots + 1 n$.
It is easy to see if A is
(diagonal or wyp trangular matrix
 $A = \begin{bmatrix} \Lambda_1 & \\ & & \\ & & & \\ & & & \\ & & & \\ & & & & \\ & & & & \\ & & & \\ & & &$



$$\begin{aligned} x(t) &= \begin{pmatrix} x_{1}(t) \\ x_{2}(t) \end{pmatrix} \qquad u(t-c)ty = Vector field. \\ (f(aw)) \\ \frac{dx(t)}{dt} &= \begin{pmatrix} x_{1}'(t) \\ x_{2}'(t) \end{pmatrix} = \begin{pmatrix} 2 & x_{1}(t) \\ x_{2}'(t) \end{pmatrix} \\ \frac{x'(t)}{dt} &= \begin{pmatrix} x_{1}'(t) \\ x_{2}'(t) \end{pmatrix} \\ \frac{x'(t)}{dt} &= \begin{pmatrix} 2 & 0 \\ x_{2}'(t) \end{pmatrix} \\ \frac{x'(t)}{dt} &= \begin{pmatrix} 2 & 0 \\ x_{2}'(t) \end{pmatrix} \\ \frac{x'(t)}{dt} &= \begin{pmatrix} 2 & 0 \\ 0 & y \end{pmatrix} \\ \frac{x'(t)}{dt} &= \begin{pmatrix} x_{1}(t) \\ x_{2}(t) \\ x_{2}(t) \end{pmatrix} \\ \frac{x'(t)}{dt} &= \begin{pmatrix} x_{1}(t) \\ x_{2}(t) \\ x_{2}(t) \\ x_{2}(t) \end{pmatrix} \\ \frac{x'(t)}{dt} &= \begin{pmatrix} x_{1}(t) \\ x_{2}(t) \\ x_{2}(t$$

More general example: $\overline{F}(X_1, X_2) = \begin{pmatrix} 3x, \pm x_2 \\ x, \pm 3x_2 \end{pmatrix}$

 $x = S \cdot Y$ $X'(\eta = A \cdot X(+).$ $(s\cdot y(t))' = A \cdot s \cdot y(t).$ 5 g'(t) = A·S·g(t). 5 multiply 51 on both sides $y'(t) = \frac{5'As}{As} \cdot y(t).$ $\begin{bmatrix} 2 & 0 \\ 0 & 4 \end{bmatrix}$ $\mathcal{Y}(t) = \begin{pmatrix} c_1 e^{tt} \\ c_2 e^{kt} \end{pmatrix}$ $X(t) = S \cdot Y(t) = \begin{bmatrix} 1 \\ -1 \end{bmatrix} \cdot \begin{bmatrix} C_1 e^{2t} \\ C_2 e^{Rt} \end{bmatrix}$ $= C_{1}e^{2t} \cdot \binom{1}{-1} + C_{2} \cdot e^{kt} \cdot \binom{1}{1}$



n×n.

Solve ODE.

$$\begin{array}{l} X'(t) = A \cdot X(t) \\ X(t) = \begin{pmatrix} X_{i}(t) \\ X_{i}(t) \\ \vdots \\ X_{n}(t) \end{pmatrix} \end{array}$$

by diagonalize
$$A$$
.
 $S'As = \begin{bmatrix} \lambda_{1}, b \\ 0 & \lambda_{m} \end{bmatrix}$.

Change of (=ordinate.

$$X(t) = S \cdot y(t).$$

$$y'(t) = \begin{bmatrix} \lambda_{1} \\ \vdots \\ & \lambda_{n} \end{bmatrix} \cdot y(t).$$

$$S = lve \quad y(t) = \begin{pmatrix} c, e\lambda, t \\ c_{1} e^{\lambda_{2}t} \\ \vdots \\ & c_{h} e^{\lambda_{h}t} \end{pmatrix}$$

 $X(t) = S \cdot y(t).$

(7.4) Matrix Exponential.
Accall
$$e^{a} = 1 + a + \frac{a^{2}}{2} + \frac{a^{3}}{3x2x_{l}} + \frac{a^{*}}{kx3x_{l}} + \frac{a^{*}}{5!} + \frac{a^{6}}{6!} + \cdots$$

Exponential of A nxn making



$$e^{At} = I_n + At + \frac{A^2}{2} \cdot t^2 + \frac{A^3}{3x_{2x_1}} t^3$$

$$t \cdots$$

 $P_{nop}: \square I f AB = BA,$ $e^{A + B} = e^{A} \cdot e^{B}$ $e^{[A + B]f} = e^{Af} \cdot e^{Bf}$

 $(2) \quad (\mathcal{C}^{A})^{-1} = \mathcal{C}^{-A}$ $\rho^{At} = e^{-At}$

 $\hat{E}_{X}: A = \begin{bmatrix} L v \\ 0 Y \end{bmatrix}$

 $e^{At} = I_n + \begin{bmatrix} 2t & 0 \\ 0 & 4t \end{bmatrix} + \begin{bmatrix} 2t & 0 \\ 2 & 0 \end{bmatrix}$ $+\frac{1}{3!}$ $-\int_{12}^{(2+)3}$ 0 -



 $= \begin{bmatrix} e^{2t} & 0 \\ 0 & e^{t} \end{bmatrix}$



 $\left(\frac{1}{2!} A^2 t^2\right) \frac{1}{2!} S D^2 S^{-1} t^2$ $\left(SDS^{-1}\right)\cdot\left(SDS^{-1}\right)$

+ 1 5 D35-++3+.~

 $= S \left(\frac{1}{2m} + Dt + \frac{1}{2} p + \frac{1}{3!} p^{3} + \frac{1$

= 5 · e^{vt} 5-1

 $E_{X}: A = \begin{bmatrix} -3 \\ 13 \end{bmatrix} \qquad S = \begin{bmatrix} -1 \\ -1 \end{bmatrix}$ $SAS = \begin{bmatrix} 2 \\ k \end{bmatrix}$

CAt = S (eDt) . 5 -1 $= \left(\begin{array}{c} 1 \\ -1 \end{array} \right)^{-1} \left(\begin{array}{c} e^{\kappa_{T}} \\ e^{\kappa_{T}} \end{array} \right)^{-1} \left(\begin{array}{c} e^{\kappa_{T}} \\ -1 \end{array} \right)^{-1} \left(\begin{array}(\begin{array}{c} e^{\kappa_{T}} \\ -1 \end{array} \right)$ $= \frac{1}{2} \left(\begin{array}{c} 1 & -1 \\ 1 & 1 \end{array} \right) \left(\begin{array}{c} e^{2t} \\ e^{kt} \end{array} \right) \left(\begin{array}{c} 1 \\ -1 \end{array} \right) \left(\begin{array}{c} 1 \end{array} \right) \left(\begin{array}{c} 1 \\ -1 \end{array} \right) \left(\begin{array}{c} 1 \end{array} \right) \left(\begin{array}{c} 1 \end{array} \right) \left(\begin{array}{c} 1 \\ -1 \end{array} \right) \left(\begin{array}{c} 1 \end{array} \right) \left($ $\begin{array}{c|c} = 1 & 1 & -1 \\ \hline 2 & 1 & 1 \\ \hline 1 & 1 & 1 \\ \hline -e^{kf} e^{qf} \end{array}$ $= \frac{1}{2} \left(\frac{e^{2t} + e^{\varphi t}}{e^{2t} - e^{\varphi t}} \right) \left(\frac{e^{2t} - e^{\varphi t}}{e^{2t} + e^{\varphi t}} \right)$

 $\left(\frac{\lambda}{dt}e^{at} = a \cdot e^{at}\right)$ $f_{dt} e^{Af} = A \cdot e^{At}$ $\int re(ated)$ $\int \frac{d}{dt} X(t) = A \cdot \chi(t).$ $e^{At} = \begin{bmatrix} 1 & 1 \\ V_{1}(t) & V_{2}(t) \\ \hline 1 & 1 \end{bmatrix}$ $V_i(t) = A \cdot V_i(t)$ $V_{2}(t) = A - V_{2}(t).$ (Olymns of eAt are solutions to bairs of solution $\chi'(\eta = A \cdot \chi(t).$ Space.

general solution $X(f) = C, V, (t) + r_2 V_2(t)$